






Find odd word from the given alternative.
दिए गए दिकल्पमें से दिषम शब्द ज्ञात कीदिए |

(A) LMPRT
(B) NPRTV

(C) HJMOR

(D) DFHJL



Find the missing ONE (?)

1 , 2 , 4 , 6 , 10 , 12 , 16 , 18 , 22 , 28 , 30 , ?

(A) 36

(B) 32

(C) 34

(D) 38



Find the RIGHT ONE (?)

MIGRANT , GERMAN PEOPLE , HUMAN 

प्रिासी, िममन लोग, मानि



Find the missing ONE (?)

IG : RU :: KH : ?

(A) TX

(B) XV

(C) XT

(D) VX



Find the missing ONE (?)

BAD = ROB VAN DAM

TOB = FIT COM BAG

NEC = ?

(A) PAN HET BUC

(B) WON RED CAP

(C) NOT LID COW

(D) LAN HAD HOC



Find the missing ONE (?)

(A) 32

(B) 24

(C) 28

(D) 20

4 5 6 8

92 11

58 37 ? 16



Find the RECTANGLE (?)

(A) 44

(B) 46

(C) 40

(D) 36



Find the missing ONE (?)

DAG : 139 :: AGDH : ?

(A) 447

(B) 436

(C) 582

(D) 437



Find the missing ONE (?)

C D E = 32

B H I = 88

H F D = ?

(A) 72

(B) 96

(C) 84

(D) 48



Find the missing ONE (?)

(A) 1

(B) 5

(C) 9

(D) 3



Find the ODD ONE (?)

(A) TQNK

(B) URNM

(C) VSPM

(D) LIFC



Find the missing ONE (?)

9 * 4 = 39

3 * 6 = 27

5 * 2 = ?

(A) 13

(B) 24

(C) 21

(D) 36



Find the option which should replace (?)

A. 8
B. 10
C. 9
D. 14



Statements:

No curtain is an element.

All elements are pillows.

Conclusions:

All pillows being curtains is a 
possibility.
Some elements are definitely not 
curtains.

कथन:
कोई पर्दा तत्व नह ीं है।

सभ तत्व तककए हैं।

कनष्कर्ा: 
सभ कपलो के परे् होने क 

सींभदवनद है।

कुछ एकलमेंट कनकित रूप से पर्ों

नह ींहैं।



Find the missing  :-

( 11 , 13 , 288)

1. 7, 11 , 162
2. 19 , 23 , 828
3. 3 , 5 , 31
4. 13 , 17 , 415
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Find the missing  :-

FINGER = 1523211223
MARKET = 1419291625
MILTON = ?

1. 2122323952
2. 2212235329
3. 2221323529
4. 222221335
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Find the ODD  :-

1. OKJ
2. EZR
3. UPF
4. AVZ
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Find the missing  :-

1. 09
2. 08
3. 11
4. 10

Kuldeep Mahendras Reasoning Daily Class 8:30 PM



Find the missing one (?)

GERMANY = 7, 6, 18, 13, 2, 14, 25
AUSTRALIA = ?

A. 1, 21, 19, 20, 19, 1, 12, 9, 2 
B. 1, 21, 19, 20, 18, 1,12, 9, 1 
C. 2, 22, 19, 20, 18, 2, 12, 10, 2 
D. 1, 19, 20, 18, 21, 1, 12, 9, 21 

Kuldeep Mahendras Reasoning Daily Class 8:30 PM



Statements:

No apple is a plum. 

All plums are oranges. 

All oranges are mangoes. 
Conclusions: 

I. All plums are mangoes. 

II. At least some mangoes are 
oranges.

EXAMPLE

कथन: 
कोई सेब बेर नह ीं है।

सभ प्लम सींतरे हैं।

सभ सींतरे आम हैं।

कनष्कर्ा: 
सभ प्लम आम हैं।

कम से कम कुछ आम सींतरे हैं।



Statements:

No apple is a plum. 

All plums are oranges. 

All oranges are mangoes. 
Conclusions: 

I. All plums are mangoes. 

II. At least some mangoes are 
oranges.

EXAMPLE


